

$$a_1 = f_0$$

$$a_f = \gamma_1$$

$$d = \frac{\gamma_1 - f_0}{f_1 - 1} = V \Rightarrow a_n = Vn + f_0$$

$$V_n + r \cdot r = r_0 \Lambda \Rightarrow V_n = 1r\omega \Rightarrow n = r\omega$$

101, 108, 115, 122, ...,

$$a_n = Vn + 9f \rightarrow Vn + 9f \leq 999 \Rightarrow Vn \leq 9.0 \Rightarrow n = 129$$

$$\underbrace{(a_r + a_r + a_\Delta)}_{-4(2) + 12 = 0} - \underbrace{(a_r + a_r + a_r)}_{-4(1) + 12 = 4} = a_\Delta - a_r = -4 \rightarrow d = \frac{-4}{\Delta - r} = -r$$

$$a_r + a_r + a_f = 9 \Rightarrow (a_r - d) + a_r + (a_r + d) = 9 \Rightarrow 3a_r = 9 \Rightarrow a_r = 3$$

$$a_1 = a_r + \Delta d = r - l_0 = -1 \qquad a_1 + a_{1V} = -1 - r_f = -r_f$$

$$a_{iv} = a_r + 1fd = \gamma - \gamma\lambda = -\gamma\gamma$$

$$\left. \begin{aligned} a_r &= r^n - 1 \\ a_1 &= r^{n+1} \\ a_{1r} &= r^{2n} - r \end{aligned} \right\} \Rightarrow r^{2n} - r + r^n - 1 = \underbrace{r \times r^{n+1}}_{r^{n+2}} \Rightarrow r^{2n} + r^n - r = r^{n+2}$$

$$\Rightarrow (r^n)^2 + r^n - r = 0 \Rightarrow (r^n)^2 - r(r^n) - r = 0 \Rightarrow (r^n - r)(r^n + 1)$$

$$\Rightarrow \underbrace{r^n(1 - r^r)}_{-r} = 0 \Rightarrow r^n(1 - r^r) = 0 \Rightarrow r^n(1 - r^r) = 0 \Rightarrow r^n(1 - r^r) = 0$$

$$a_r + a_1 + a_{1r} = r + 1 + 1r = r^2$$

$$r^n = -1 \quad \text{عنه$$

$$\left. \begin{aligned} a_{10} + a_{1r} &= r\Delta \\ a_{1r} - a_{10} &= \Delta \end{aligned} \right\} \Rightarrow ra_{1r} = r_0 \Rightarrow a_{1r} = 1\Delta \Rightarrow a_{10} = 10 \rightarrow d = \frac{1\Delta - 10}{r} = r\Delta$$

$$a_{r_1} = a_{10} + 11d \Rightarrow a_{r_1} = 10 + \frac{r_1 \cdot 11}{11} = r_1 \cdot 11$$

$$\frac{r}{r} (ra_1 + fd) = \frac{r}{r} (ra_1 + fd) \Rightarrow ra_1 + fd = ra_1 + fd$$

$$\Rightarrow fa_1 = rd \Rightarrow ra_1 = d$$

$$\frac{ar}{a_1} = \frac{a_1 + d}{a_1} = \frac{a_1 + ra_1}{a_1} = r$$

$$t_n = t_{n-r} + 1 \Rightarrow t_f = t_1 + 1 \Rightarrow \frac{t_f - t_1 + rd}{rd} = 1 \Rightarrow d = 1$$

$$\frac{t_q^r - t_\omega^r}{t_v} = \frac{(t_q + t_\omega)(t_q - t_\omega)}{t_v} \Rightarrow \frac{r t_v (t_q - t_\omega)}{t_v} = r(t_q - t_\omega) \xrightarrow{t_q - t_\omega = fd}$$

$$r(fd) = r(r_0) = f_0$$

$$d = \frac{r + \sqrt{r} - r(1 - \sqrt{r})}{1r + 1} = \frac{r + \sqrt{r} - r + r\sqrt{r}}{1r} = \frac{r\sqrt{r}}{1r} = \sqrt{r}$$

$$d = \frac{r_0 - r}{r_0 - r + 1} = \frac{r_0}{r_0 - r}$$

$$\Rightarrow d = d \Rightarrow \frac{r_0}{r_0 - r} = \frac{q}{n} \Rightarrow r_0 n - 1 = r_0 n$$

$$\Rightarrow qn = 1$$

$$\Rightarrow n = r$$

$$d = \frac{11 - r}{n + 1 - 1} = \frac{q}{n}$$

$$a_r + a_{1v} = a_n + a_{n+r} \Rightarrow r + 1v = n + n + r \Rightarrow n = 1$$

$$a_n = r a_n \xrightarrow{n=1} a_1 = r a_r \Rightarrow a_1 + vd = r(a_1 + rd) \Rightarrow a_1 + vd = r a_1 + r d$$

$$\Rightarrow r a_1 = -rd \Rightarrow a_1 = -d$$

$$a_1 + (n-1)d = 0 \xrightarrow{a_1 = -d} -d + nd - d = 0 \Rightarrow nd = rd \Rightarrow n = r \rightarrow p > r$$